

A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 5/29/2015 11:09:58 PM

Mode of Payment: DD/Payorder/Banker's

Cheque

DD/Payorder/Banker's Cheque Date:

26/05/2015

APPL CATION ID : NRCAPP11945

DD/Payorder/Banker's Cheque Number: 233866

DD/Fayorder/Bank er's Cheque Bank: BOB,

BANGAWANDEEH

Wel site: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

Designation

Address

E-mail Address

Telephone No (Office)

Telephone No (Resi)

Mobile No

: Shyam Bahadur Verma

: Manager

: Vill- Patar Khas PO- Bhelar a Dist- Sultanpur U.P

: snvmpgcouege@gmail.com

: Shivara Seva Sansthan

: 0

: 09415137463

Name of the Applicant/Organization/Socity/Trust

Postal Address of the Applicant

Plot Number

: 151gh, 159,

: Khanpur Pilai

Tehsil/Taluka

Village/Town/city

: Kadipur

: 222101

State

: UP

Pin Code Telephone No

E-mail ID

: 0

snvmpgcoilege@gmai

Street/Fload

Post Office

Town/C ty

District

STD Code

Fax No.

Website Address

www.snvmpgcollege.c

: 0

: 0

: Rupaipur

: 05453

: Akhand Nagar

: Sultanpur (UP)

Permanent Account Number of Society/Trust/body

: AACTS7178K

शिव नाथ वर्मा स्मारक स्नातकात्तर महाविद्यालय देवनगर (खानपुर पिलाई. सल्तानपूर

स्त्रम्ग ०२



National Council For Teacher Education

A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant /

Name and Address of the Institution	Name of the Programme	Level of the Programme	Duration of the Programme	Year of starting the Programme	Name of the Affiliating Board/Univer.	Date of Affiliation
Shivnath Verma Smarak Mahavidyalaya Khanpur Pilai Devnagar Rupaipur Sultanpur	MA	Post Graduate	2	2007	DrRML AWADH UNIVERSITY FAIZABAD UP	Jul 1 2007
Shivnath Verma Smarak Mahavidyalaya Khanpur Pilai Devnagar Rupaipur Sultanpur	BA	Others	3	2002	DrRML AWADH UNIVERSITY FAIZABAD UP	Jul 1 2002
Shivnath Verma Smarak Mahavidyalaya Khanpur Pilai Devnagar Rupaipur Sultanpur	BCom	Others	3	2007	DrRML AWADH UNIVERSITY FAIZABAD UP	Jul 1 2007

शिव नाथ वर्मा स्मारक स्नातकात्तर महाविद्यालय देवनगर (खानपुर पिलाई सुल्तानपर



A Statutory Body Of The Government Of India

Particulars of Applicant Institution

Institution Information

Name of the Institution

: Shiv Nath Verma Smarak Mahavidyalaya

Programm Applied for

Nature of Application

: New Recognition

Mode of Course

Complete Postal Address[As mentioned in the Affidavit]

Land Identification (Plot/Khasara No.)

151gh, 159, 162kh 149mi, 151chha

Land Title

: ownership

Plot Number

151gh, 159, 162kh, 149mi, 151c

hha, 154, 155, 157, 161, 158 Ka, 185 151Ch, 156Kh, 144 160, 164, 152, 1511

Street Number

: 0

: 0

Village

Post Office

: Rupaipur

Teirsil/Taluka

: Kadipur

Town/City

: Akhand Nagar

State

· UP

Pin Code

: 222101

District

: Sultanpur (UP)

Fax No.

. 0

Telehpone No E-mail ID

: snvmpgcollege@gmail.com

Website Address

: www.snvmpgcollege.com

Institution is for

: Coed

Institution is a Minority Institution

: N.A.

Type of Institutions

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: SCERT

Address

: JBTC Campus Nishatganj

Lucknow: 226007

Uttar Pradesh ,India

(522) 2780385

Telephone Nos.

: (522) 2780385

पबन्धक

शिव नाथ वर्मा स्मारक स्नातकात्तर महाविद्याालय देवनगर (खानपुर पिलाई



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes

Details of Existing Teacher Education Programmes run by the same applicant

Society/Trust/Organisation/Company

Name of the Institution	Name of the Programme	Date of Commenceme nt of the Programme	Existing approve d intake	Recognit ion Order Number	Recognition Order Date		Date of Affiliation
Shivnath Verma Smarak Mahavidyalaya Khanpur Pilai Devnagar Rupaipur Sultanpur		01/07/2008	100	F- NRC/NC TE/F- 7/UP- 2214/20 08/6147 4-80	09/09/2008	DrRML AWADH UNIVER SITY FAIZAB AD UP	07/01/20 08
Shivnath Verma Smarak Mahavidyalaya Khanpur Pilai Devnagar Rupaipur Sultanpur	B.Ed	01/07/2003	100	F- NRC/NC TE/F- 3UP- 773/200 3/3075	07/21/2003	DrRML AWADH UNIVER SITY FAIZAB AD UP	07/01/20 03

प्रबन्धक

शिव नाथ वर्मा स्मारक स्मातकात्तर महाविद्याालय देवनगर (खानपुर पिलाई-सुल्तानपुर



A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the

same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the Institution	Date of Application	Applicati on ID	Name of the	Academic session for	Proposed intake	Regional Committe to	Status
			Program	which		whom	
		all of the	me	applied		applied	

प्रवन्धक

शिव नाथ वर्मा स्मारक स्नातकात्तर महाविद्यालय देवनगर (खानपुर पिलार्ड स्ल्तानपुर





A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme

Area of the land in possession (in sq. mts.)

: 21910

Built up area earmarked for the programm (in

: 1509

sq. mts.)

Whether the building constructed / proposed to

be constructed on the same land.

Date of completion of construction of the

: 01/07/2015

building.

Name of the competent authority for approval of : Gram Pradnan

building plan and issue of completion certificate

Address of the competent authority for approval : Khanpurpilai Sultanpur

of building plan and issue of completion

certificate

Whether Bldg, is disabled -friendly as per the

: Yes

Total Built up Area (in sq. meter)

: 1509

Total Built up Area (in sq.ft.)

: 16236.84

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq meter
Class Room	2	7.62	7.32	55.78
Multipurpose Hall	4	18.29	12.19	222.96
Seminar room / Tutorial room	1 .	10.97	7.62	83.61
Library	1	19.774	14.233	138.978
Principal Room	1	6.09	6.035	36.788
Administrative Office	1	4.267	4.267	18.208
Store Room	1	3.657	3.048 A	11.146

शिंव नाश्च वर्मा स्मारक स्नातकात्तर महाविद्यालय देवनगर (खानपुर पिलाई) सल्तानपर



ore Kom	1	6.096	3.048	18.580
Girls Common	1	7.62	3.66	27.889
Boys Common	1	10.97	7.62	83.61
Art & Crafts Room	1	7.62	7.32	55.74
Music Room	1	7.62	7.32	55.74
Science Lab1	1	10.97	7.62	83.61
Psychology Lab	1	10.97	7.62	83.61
Educational Technology (ET) / ICT Lab	1	7.62	6.09	46.45
Any other Room / Hall	1	7.62	6.09	46.45
Any other Room / Hall	1	7.62	3.66	27.89
Toilets (Male)	3	6.09	4.88	29.728
Toilets (Female)	3	5.48	3.65	20.06

प्रवस्त्रक शिव नाथ वर्मा स्मारक स्मातकात्तर महाविद्याालय देवनगर (खानपुर पिलाई सुल्तानपुर





A Statutory Body Of The Government Of India

Details of Instructional Resources

Library

Total number of Titles : 0

Total number of Books : 0

Journals : 0

Computer Laboratory

No. of Computers :ta

Internet Access : Yes

LAN : Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant	٦
				Posts	-

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant	
				Posts	

Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant	
		N. Marie Communication of the		Posts	

प्रवर्भेक शिव नाथ वर्मा स्मारक स्नातकात्तर महाविद्याालयं देवनगर (खानपुर पिलाई सुल्तानपर





A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq. meter
1	140	68	9520

Website: www.ncte-india.org

प्रबन्धेक शिव नाथ वर्ना स्मारक स्नातकात्तर महाविद्यालय देवनगर (खानपुर पिलाई)

सल्तानपर